Honors Algebra 2 Unit 5: Graphing Raticnals & Radicals 5.8 - Review

Name \Ae Date

Graph each function, fill in the chart, and make a table of points.

1f(x)=-2y-(x+1)+3 2. F(x)=Y-172(x-2) +1
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Using the graph of f(x)= Jx as a guide, describe the transformation.

3. g(x)=4, /I—H[x 25" Verkical Stredeh 4, ceflect ocfess y-axns, horizontel sk 2
" O lef+3 ) down V :

4. g(x)=—3x+17)+29  Refleck avec x-axis, horizonlal shein¥a J3, 1l 1 up}q

Use the description to write the square root functionig. l

5. The parent function f(x)=+/x is reflected 6. The parent function f(x)=+/x is franslated

across the y-axis, vertically stretched by a 2 units right, reflected across the x-axis, and

factor of 7, gnd franslated 3 units down. compressed horizontally by a factor of 1

0= =X -3 3V = 12(x-2)
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7. The parent function f(x) = Jx s 8. The parent function f(x)=+/x is translated 8
compressed vertically by a factor of 1/4, units left, reflected across the y-axis, and
reflected across The x-axis, and translated 6 stretched horizontally by a factor of 3.
units up.
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11. Canrational functions have Horizontal Asymptotes and Slant Asymptotes? NG\

Yes!

12. Can rational functions have Horizontal Asymptotes and Vertical Asymptotes?
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Solve ecch mequallty algebraically. Write in interval notation.
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